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1. @oe [pcama e Saacht qmfa a4 : [ x6+6

Choose the correct answer of the following :

(a)

P25/1540

G CPIACHT @I e Hf4ue <123 7
Which of the following is not a measure
of central tendency?

(1) 1%
Mean
(1) I
Median
(i) T [4pife
Standard deviation
(1v) qA=FHD
Mode
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(2)

b) <& e ofER TR Y S
SRR e s

The sum of the probabilities of all

possible outcomes of a random

experiment is always
() o/ O
G >/ 1
(it) o SIF >3 Y&e / Between O and 1
(iv) > O3 Hf&F / More than 1

() 3 oI RGN A WF B IR |, (93
P(ANBR 9 23
If two events A and B are independent,
then P(AN B) is given by

(i) P(A)+ P(B)
(i) P(A)xP(B)
(i) P(A)/P(B)
(iv) P(A|B)

(d) 8 9 TR ffie aedme 91 K oAfR{€eaE
SRR WE ofFe e (@Ecol FgE eI
[IRR I A?

Which probability distribution is used to

model the number of rare events
occurring in a fixed interval of time or

space?
(i) fRom Rea=

Binomial distribution
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(e)

P25/1540

(3)

(ii) FroilRes Reaq
Normal distribution
(ifi) o= fIeaq
Poisson distribution
(iv) S*[d OIS =7
None of the above
9B1 3 Ay A w3 FAEIMe o
R 3fere o = 2
In a simple linear regression model, the
dependent variable is also called

(i) SRy@ARERl 5o

predictor variable
(i) afSfeF voe

response variable
(i) T3 b

independent variable
(iv) SRZ

residual
o (IOl TTRTE SRR YOI Teied AHO
GIRGCF ST (TRF oS o ?
Which of the following correlation
coefficients indicates the strongest
linear relationship between  two
variables?

i) o-e¢/ 05
(i) —o-> / —09
(i) o / 0-8
(iv) —o-9 / —-0-3
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(b) <1 GeE ARrEE e SR TN
SFERAR arFe] 74a1 3 |
The sum of the probabilities of all
possible outcomes of a random
experiment is always

(i) o/ O

(i >/ 1

(iii) o EF > e / Between O and 1
(iv) > o3 f§$ / More than 1

(c) I ¥BI R€Gn A W*F B FAT W, (I3
P(AN B 919 3’3
If two events A and B are independent,
then P(AN B) is given by

(i) P(A)+ P(B)
(i) P(A)xP(B)
(i) P(A)/ P(B)
(iv) P(A|B)

(d) 8 4 g=a [fd2 q@arere 961 @@ sAfaatae
M W 48 FfAQea @FFeol A8E- faeaq
I ¥ A ?

Which probability distribution is used to
model the number of rare events
occurring in a fixed interval of time or
space?
(U‘%ﬂ?ﬁﬁ?’
Binomial distribution
( Continued )
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(ii) FreilRe Read
Normal distribution
(iti) v Reaq
Poisson distribution
(iv) 83 OIS =W
None of the above
(e) @B e cafye STrRe Sf¥a SN HeFCOrE
R Ffere o = 2
In a simple linear regression model, the
dependent variable is also called

() SRYEAFA 5o
predictor variable
i (t) AfSferan oo
response variable
(it) TOF v
independent variable
(iv) SRMA2
residual
() TR @G TTREAE AR Bl GRS
HGIZSCF *fEa CARF SToF o ?
Which of the following correlation
coefficients indicates the strongest
linear relationship between  two
variables?
() o-¢/ 05
(i) —o-5> / —0-9
(i) o / 0-8
(iv) —o-© / —0-3
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2. wmwﬁm%ﬁmmmﬁm4;31
X=2

Answer any three of the following questions :

(a) @@uefaq@ﬁaﬁwwﬁmﬂwm

911
Explain the properties of a good

measure of central tendency.

(b) oo R ST I T AT 1
10, 15, 20, 25, 30, 35, 40
Calculate the median for the following

data :
10, 15,20, 257%30;%85; 40 ‘

© =eRe Rem iRz & 2 =W
TR TR fors |

What are the assumptions of the normal
distribution? Explain its properties.

(d) TR Oe RITIR WIF RN e
of1e( g2 T4 |

Differentiate between correlation and
regression with examples.

3. (@ v Rpfes e frn I+e Rpfes -m1 3
@A 42 3
Define mean deviation. How is it
different from standard deviation?
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(b)

(c)

(@)

(b)

(c)

P25/1540

(5)

ab1 o foda STzre wefes arRems A
4 |

Explain the concept of skewness with a
suitable diagram.

9Bl AAFS 5 T T2 AS A qAFA 2
— 40, 50, 60, 70, 80. TR F=& Rpfe
SIT R0 |

The marks obtained by 5 students in a
test are 40, 50, 60, 70, 80. Calculate the

standard deviation.
w241/ Or

fRvgaer Rfen 4@ TopTyz R R 2 Tz i |

What are the different types ©Of
measures of dispersion? Give examples.

sifasieT Resmere $6°R=T (REMCOR wred 7101
41 |

Explain the significance of the concept
of kurtosis in statistical analysis.

e figl O qwa gu we speie [pfe
N1 91 :

15, 48 20522 25 20 35
Find the median and quartile deviation
for the following data :

150+l 8420, 2244255 20 IO
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4. (a)

(b)

(b)

P25/1540

(6)

CazAed e SR o4 ¥od (PMF) ST
HERA g ¥ (PDF)A 5k ford |

Define probability mass funct%on (PMF)
and probability density function (PDF)
with examples.

@Bl @ors 5 B1 e q@, 3 O Tenr T EF 2 0
CO® 31 wem | A @61 I AgfRFSA
SRR e oz, o® % () I8 @WK,
(@) =T @RR S=EL (Gii) CTOEAT TR SR
= 2

A bag contains 5 red balls, 3 blue balls
and 2 green balls. If one ball is drawn
randomly, what is the probability that
it is (i) red, (i) blue or (i) not green?

<1/ Or

Y@ BRAN YRl G5l SHIRIACET AT
9

Explain the concept of conditional
probability with an example.

901 TR FHo]f I8 9B TReH FI FRAT O-1.
M 501 I} IMRFOIR BT T4 =W, (503
IR 9G] IT Ff6 I SR Sfeqe |

The probability of a machine producing
a defective item is O-1. If 5 items are

selected at random, find the probability
that exactly one is defective.
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5. (a) faa wanma @9 fAew wanaa o T @Els
49 7 S
What is a null hypothesis? How is it

different from an alternative
hypothesis?

T | 5

Differentiate between Type [ and Type II
errors with examples.

|
(b) THEADE Type | % Type II @fbq o<

<1/ Or
(@) Chi-square “AFFR AEA SF ;A LA
1= 41 |

Explain the concept of a chi-square test
and its applications.

(b) @B @ 100 IR B% <1 =W, W 7 40 I
¢l S1’#1 | Chi-square 3 @21 I 5%
SR BIS JWICO] TCrs S <[ <+ |
(df =1 &foe] I 3-841) S
A coin is tossed 100 times, and heads

appear 40 times. Test whether the coin |
is fair at a 5% level of significance using
|

the chi-square test.
(df =1, the critical value is 3-841)
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(b)

(@)

(b)

G &)

SR RomTe Jrred 25fa S A F41 |
Explain the method of least squares in
regression analysis.

o fi wepcz 5 & WEd TWEl (X) W1
S (Y) I&iRCR | X T 89S Y T T CA31q
AR ey 1 |

The following data represents the height

(X) and weight (Y) of 5 students. Find the
equation of the regression line of Y on X :

256 ¥ 18502160, 170418088100
Y : 50 55 60 65 70
<1/ Or

SAfee RemTe oers IR IR
S

What are the uses of index numbers in
economic analysis?

oS fl SUPRER /T RedRE s s
<9

Compute the Fisher’s index for the
following data -

Commodity
(>maa)

Price (73) Quantity (fawr4)

Base Year

(R 79)

Current Year

(e )

Base Year

(Rfe 1)

Current Year

(5Fors 1)

10

12

5

6

o |

15

18

8

9

0

20

25

10

12
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